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DE�FGHIJK�LMKJNOPQFIKNLE�LOPLEQR�GF�QO�FGHIJK�GFIKLISMNHJ�TLKL�EL�GHJOJUVL�LOPLEQRLW�XL�NOPQFIKNL�

LMKJLENUGOILKNL�LOPLEQRL�HJOFINIQYG�QOL�LHINZNPLP�PG�TKNUGKL�ULMONIQP�GO�EL�GFIKQHIQKL�TKJPQHINZL�KGMNJOLE[�

TQGF�FQTJOG�GE�\]̂ �PGE�O_UGKJ�IJILE�PG�NOPQFIKNLF�PG�̀OPLEQHVL�Y�GE�\â �PGE�GUTEGJ�MGOGKLPJ�TJK�EL�
LHINZNPLP�NOPQFIKNLE�GO�EL�KGMNbOW�

�
DFIG�IGcNPJ�LMKJNOPQFIKNLE�GFId�HJOFINIQNPJ�TJK�GUTKGFLF�PG�TGeQGfJ�ILULfJ�GO�ISKUNOJF�PG�GUTEGJW�DO�FQ�
ULYJKVL�FJO�TGeQGfLF�Y�UGPNLOLF�GUTKGFLF�gGO�LPGELOIG[�hijDk�HJO�UGOJF�PG�\l]�TGKFJOLF�GUTEGLPLF�Y�
eQG�FG�FNI_LO�GO�RJOLF�KQKLEGF[�PG�UJPJ�eQG�HJOIKNmQYGO�L�nNcLK�TJmELHNbO�GO�GFILF�dKGLF�eQG�HJO�nKGHQGOHNL�

TKGFGOILO�TKJmEGULF�PG�PGFTJmELUNGOIJ�J�GOZGcGHNUNGOIJW�

�
XL�LMKJNOPQFIKNL�LOPLEQRL�oL�EEGZLPJ�GO�EJF�_EINUJF�LfJF�QO�MKLO�O_UGKJ�PG�NONHNLINZLF�Y�LHHNJOGF�ILOIJ�TLKL�

LZLORLK�GO�NOOJZLHNbO�Y�GO�HLENPLP�PG�EJF�TKJPQHIJF[�LFV�HJUJ�TLKL�NOHJKTJKLK�ELF�pGHOJEJMVLF�PG�EL�
qOnJKULHNbO�Y�EL�rJUQONHLHNbO�gpqrk�J�TLKL�KGPQHNK�GE�NUTLHIJ�LUmNGOILE�eQG�MGOGKLO�EJF�TKJPQHIJF�
LENUGOILKNJF�GO�HLPL�QOL�PG�ELF�GILTLF�PG�FQ�HNHEJ�PG�ZNPLW�sJ�JmFILOIG[�FNMQG�IGONGOPJ�LOIG�FV�NUTJKILOIGF�

KGIJF[�GOIKG�JIKLF�HQGFINJOGF[�GO�EL�GFTGHNLENRLHNbO[�EL�ZLEJKNRLHNbO�PG�TKJPQHIJF�Y�FQmTKJPQHIJF[�GO�EL�
GnNHNGOHNL�Y�GO�EL�ZLEJKLHNbO�PGE�TLTGE�PG�ELF�UQcGKGFW�

�

tGOIKJ�PG�GFIG�HJOIGuIJ[�OJF�GOHJOIKLUJF�HJO�GE�JENZLK�HJUJ�GE�LMKJFNFIGUL�UdF�KGTKGFGOILINZJ�Y�FNUmbENHJ�
PG�̀OPLEQHVL[�FNGOPJ[�cQOIJ�L�FQ�NOPQFIKNL�LFJHNLPL[�PG�MKLO�KGEGZLOHNL�GO�EL�MGOGKLHNbO�PG�GUTEGJ�Y�KGOILF�

GO�EL�KGMNbO[�nJKULOPJ�QOL�TLKIG�nQOPLUGOILE�PGE�IGcNPJ�LMKJNOPQFIKNLE�LOPLEQRW�
�

hJK�FQ�TLKIG[�GE�vGMELUGOIJ�gwDk�O_UW�xy]lz\]xy�PGE�hLKELUGOIJ�DQKJTGJ�Y�PGE�rJOFGcJ[�PG�x{�PG�PNHNGUmKG�

PG�\]xy[�KGELINZJ�L�EL�LYQPL�LE�PGFLKKJEEJ�KQKLE�L�IKLZSF�PGE�|JOPJ�DQKJTGJ�̀MKVHJEL�PG�tGFLKKJEEJ�vQKLE�
g|D̀tDvk[�GFILmEGHG�GO�FQ�LKIVHQEJ�l�ELF�TKNJKNPLPGF�PG�PGFLKKJEEJ�KQKLE�PG�EL�wONbOW�DOIKG�GFLF�TKNJKNPLPGF�

PGFILHL�GE�nJUGOIJ�PG�EL�JKMLONRLHNbO�PG�EL�HLPGOL�LENUGOILKNL[�NOHEQYGOPJ�EL�IKLOFnJKULHNbO�Y�

HJUGKHNLENRLHNbO�PG�TKJPQHIJF�LMKLKNJF[�oLHNGOPJ�oNOHLTNS�GO�GE�LQUGOIJ�PGE�ZLEJK�LfLPNPJ�PG�EJF�TKJPQHIJF�
LMKVHJELFW�
�

DE�jLKHJ�sLHNJOLE�PG�tGFLKKJEEJ�vQKLE�PG�DFTLfL�\]xa}\]\][�LTKJmLPJ�TJK�EL�rJUNFNbO�DQKJTGL�GE�xy�PG�

nGmKGKJ�PG�\]xl[�NOHEQYG�PGOIKJ�PG�EL�jGPNPL�a�PG�~qOZGKFNJOGF�GO�LHINZJF�nVFNHJF��EL��QmUGPNPL�aW\W�PG�LTJYJ�

L�ELF�NOZGKFNJOGF�GO�IKLOFnJKULHNbOzHJUGKHNLENRLHNbO�YzJ�PGFLKKJEEJ�PG�TKJPQHIJF�LMKVHJELFW�
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